g Al A

o,
=

Ol &b A

Al

™
[e6)
& o
) > ™
no ool 3 :
ER < : o
H o
< w 0
- O 0
8 S = .
o 3 > 3
| 8 8 G4 .
o | y
o 9 | Ouy
sz | : : |
o) 4|; :
u_._w..a = = N : | :
e | ; 12 |8 S 18
_A._mw ™ = i i - o :
S SN N S :
o o : .
g ] o
g 2188 2
(e} | y ,
- 2|2 |9 5
NBEBZ38|8RI8E |
mmwo,ﬁ,2,7mwowm91
= 4,4,9H3% 3 95 SISEEd ElE
< L oo wy T R T ree A ERI NN :
(V) [aN) = © ® y S N : :
m . N N | [e\] Owow S 88
™ 4|y > yn/._8 woom S S
2 S 8 ] ) vOOOO m S S
8 T ¥ oY - =Y ol & NN S
S8~ o|s |8 |o : s
i H =< | | % | 4,0,
=< rr H =< | :
mwH=<
or
Mo m W<
- <
_5 . W=
. T =
: S8 O ®
3o
: S WY
: NE p :
: weE oo d p*u
: 58 B8 moo
i mwam a
: i y wz
: I i w
: K 4l O,
oF : |
.r = ol 5
E = L) “ 4
. g RO N :
: e M s & u M
RO RS 2z |= : @
. of | 4 = 20 e ) : ﬂ
x 5 K =0 | T S-S @ ;
o [& |3 vz v .
o+ ala|= e SR : : |
i LR &) KO S o :
nlglg ol o) 8| ~ i ; :
=|&|° pay O B0 y 0 : :
ok ° o ; M .HW_ A_v
mH_ w > ulu._ ok
: . . oll O
S
(ep]

=
RO
Ho

- 285 -




o o o o o o o o
o o o o
Sl I N
n0 Q| |~ <
Ko g
El
o
o o o o o o o o o o
o o o o o o o o o o
o o o o o o (e} (o)) (e} 0]
6 |w |9 MR o N o o
_|_A_H—. [aV] [aV} [aV] — — — % D
Ol
mZ
RS
o o o o o o o o o o o o o o o o o o o o o o o o o O O — o O O O o o O
o o o o o o o o o o o o o o o o o o o o o o o o o M~ MO o O Al © o o O
S & & S & 55 & & S|g|g|ggleglg|ge|g|g|le @ & d|leNORN|IQFT NS Id 0 F
[aV} < o Yol o [aV] @ o [aV] Al Yol Yol Yol Lo Al [aN] Al [aN] (@] (@2} <t <t <t <t ~ © O — 0 F — ™ [ee] o <
— — — N [aV] N [aV] — — — — o © [V}
al
<
=
W< mr < mr
ol 3 o ™ B0 B o &0 & ol al
PR P oS8R ¥3 3 N 5
o | B2 2 B 2ia PFg g 28 _
e} 5 S al a H o X o o = x 0
0 X N = —_ - o o o o S o)
A o * * 8 < & s < ] o o
B |z o o [ ® =2 B8 g o 8 o =
S S o o o o ¥ px I WS - S D
* M <= < ISENERS s « o &l 8 < Ll
d |8 F8 g Wg o 8 R S S <
=< [ © oY ~ " < =4 @ th
o [H 30 T3 g i z
=z [R Ho %0 - =
R Ed R0 b o - 0 wr
= |= iy <39 $ = _ W <0
= ot Kl D@ o Ky o Ki al R s
SR ol Worom o i = it A i &
F |7 o) 3 W 31 o 00 o HO RO o]
= 0l 30 = < e < Fid - o al
ol | = o = N = N o = 3o =z
3l R0 ERE | ® | %0 2’| %0 i o 20 oo
- | a1 sl ol H o | 2[R SRR = Gt Al
=N ) Ho Ho K T sl VI AR bt o 3 o R
% |O O O O O or | a |3 3l o) < = 31 =z O
: ols s 58 |2 5 0 5
X al | @ ™ ol il
I+ Ho Ho R0

- 286 -




2N
X ZH -
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sQiolo] ASFY L SN
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SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 1,320
Al 3,080
307 2Iz2to| & 89,100 89, 100 0
= 62,370
= 8,019
Al 18,711
02 QIZIAAAIE E X 89,100 89, 100 0
OFE=Yo =8 I3 89,100
= 62,370
= 8,019
Al 18,711
HUEUsHol MME0otel K& 8,000 0 8,000
= 2,400
Al 5,600
307 QI2t0| ™ 8,000 0 8,000
& 2,400
Al 5,600
02 AI2tAAMAIE E =X 8,000 0 8,000
OFE =0l MMESOIel X 8,000
& 2,400
Al 5,600
SYoI=X X2 2,562,781 2,334,410 228,371
= 55,000
o=t 661,695
Al 1,846,086
sgol X 38,100 49,150 A 11,050
201 et d| 36,600 35,400 1,200
01 AFR 2t 2| H| 36,600 35,400 1,200
O=sdaos &HA&E 70,000& x15YH x23| 2,100
OsEAH EEZ2(HINY MoXE M 5,000
OOl =MISH HE
300,000 +7HE2 2,100
Ogttf2y| 27,400
405 XHA&HF S HI 1,500 13,750 AN 12,250
01 XA 2 F S H| 1,500 13,750 AN 12,250
OFAI Y 600
OdHdEn 2 900,000 =1CH 900
HAasdel AESI(EX) 117,180 78,660 38,520
= 32,900
Al 84,280
301 et A= 101,430 71,820 29,610
o= 28,175
Al 73,255
12 JIEtE & =2 101,430 71,820 29,610
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2AH: 30
X EH: =00
(=R B —
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Sel: S0l

QI=X K& (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

OB4NHE sSIHER0XA 101,430
< 28,175
Al 73,255

307 21201 A 15,750 6,840 8,910
< 4,725
Al 11,025

02 QIAHFAAFEX 15,750 6,840 8,910
OZs&0 sge Bg=s N&E 15,750
= 4,725
Al 11,025

sgoltyd X3 XNA(EX) 241,500 333,500 292,000
< 60,375
Al 181,125

301 Yete A 241,500 333,500 £.92,000
= 60,375
Al 181,125

02 ¥et=stit= 241,500 333,500 A 92,000
Osgelid sXa3X& 241,500
< 60,375
Al 181,125

OE=oHE(EX) 247,000 236,000 11,000
< 65,000
Al 182,000

307 glz2tol & 247,000 236,000 11,000
< 65,000
Al 182,000

02 It AAHEE 247,000 236,000 11,000
Odsgody 28X & 247,000
< 65,000
Al 182,000

N ESCICES) 1,047,121 993,100 54,021
< 375,928
Al 671,193

201 et 105,240 105,240 0
< 21,048
Al 84,192

01 At 22l 105,240 105,240 0
O8t= sojpIa2 B3 84,000
= 16,800
Al 67,200
Ost= s3UE2 22 21,240
< 4,248
Al 16,992

307 21201 A 941,881 887,860 54,021
< 354,880
Al 587,001
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M =golo ASZEY & XX
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 941,881 887,860 54,021
O=geol saASMHHEENA 604,712
= 259,162
Al 345,550
O=sgeol etdeEd sItR2ga A& 199,169
= 54,318
Al 144,851
OSJIHESEES XA 138,000
= 41,400
Al 96,600
S| 2EZ AN 134,400 24,000 110,400
< 26,880
Al 107,520
307 21201 A 134,400 24,000 110,400
< 26,880
Al 107,520
02 HAFHAANFEX 134,400 24,000 110,400
Os8ll 25 SA4XE 134,400
< 26,880
Al 107,520
Ofeselel MAIEXH 299,000 190,000 109,000
< 89,700
Al 209,300
301 LB A F 299,000 190,000 109,000
< 89,700
Al 209,300
12 JIEtE& = 299,000 190,000 109,000
O&d=sgel Mu3tEXA 299,000
< 89,700
Al 209,300
D= sAHHAH XA 225,000 300,000 AT75,000
301 et d s 225,000 300,000 AT75,000
ERIEEE 225,000 300,000 A75,000
ODNYsel XY ey X
3,000,000& = 150ha * 50% 225,000
s ESH XNEAY 100,000 100,000 0
402 QI2H X201 M 100,000 100,000 0
03 212t & AL S HI 100,000 100,000 0
O=go (0N EAZ)XAAL 100,000
sSYoEN 88 s (NLF2d) 95,000 0 95,000
= 55,000
< 7,000
Al 33,000
201 L2l 5,000 0 5,000
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= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 At 22l 5,000 0 5,000
Of3as & 824 XN 5,000
301 L2 A F 10,000 0 10,000
= 5,000
< 1,000
Al 4,000
12JIE243 10,000 0 10,000
onzas = N&E 10,000
= 5,000
< 1,000
Al 4,000
307 g2+l & 80,000 0 80,000
= 50,000
< 6,000
Al 24,000
02 It HAHE L 80,000 0 80,000
OsZUEHME 288 FsXd Q2 80,000
= 50,000
< 6,000
Al 24,000
HeE=sgel s&g HoZy X& 13,040 0 13,040
< 3,912
Al 9,128
307 21201 A 13,040 0 13,040
< 3,912
Al 9,128
02 QB AANHFEX 13,040 0 13,040
O&dsge s&g Hodd X& 13,040
< 3,912
Al 9,128
=0l HEZ2ZA ZZ2]H 5,440 0 5,440
201 Let249] 5,440 0 5,440
01 At 22l 5,440 0 5,440
O3el HEIZZA Z20d 5,440
sXzel2d XA 69,414 68,115 1,299
| 47,414
Al 22,000
sAzel23 X3 22,000 22,000 0
201 £B-2dH| 15,000 15,000 0
01 At 22l 15,000 0 15,000
OKRAS =sZ &SNS S 15,000
202 o4dl 7,000 7,000 0
01 = LH o4 1l 7,000 7,000 0
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= ot ol

HE: s0lo ASAY U =X
e sX2e2d9 XN (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
OsX&elge =80 7,000
SX0ISAH AN (SXACIEXXH)(EX) 47,414 46,115 1,299
J| 47,414
101 2121 d| 44 414 43,115 1,299
bl 44,414
04 JIZtHI22NSES 44 414 43,115 1,299
OsXols8aelXa oAyl 44,414
9] 44,414
202 044l 3,000 3,000 0
J| 3,000
01 2L I 3,000 3,000 0
OsXolgelgdL2x=48 ol 3,000
J| 3,000
=XI| & 46,326 132,676 A 86,350
SHASEA 7,586 107,302 N99,716
201 Bt 7,586 7,302 284
01 AP 22| H| 7,586 0 7,586
OFUASXHAAE X2 2H| 7,586
SHEXZIAY 22l AlAE 29 38,740 25,374 13,366
101 2121 H] 14,831 13,374 1,457
04 JIZtHI22XNSE S 14,831 13,374 1,457
OsgEEXIAIY XSAAE 22| olAHH| 14,831
ot 66,8003 1 183 12,225
S5 66,800 124 39 2,606
201 et 9| 23,909 12,000 11,909
01 AP 2t 2] H| 23,909 0 23,909
OsgEXAY XNSAAE AIES 23,909
el & H| 1,129,000& » 1204 & 13,548
S X2 44| 10,361,000 = 14 10,361
S =& XA A3 49,011,191 42,626,604 6,384,587
= 15,921,510
= 13,809,300
J| 62,645
= 3,573,541
Al 15,644,195
HsHEQ X2 1,703,420 1,943,875 A 240,455
= 60,000
g 211,500
o 25,200
Al 1,406,720
sZE0Id el2dE X (HAsUE ) (BEX) 60,000 60,000 0
= 30,000
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AsHE XA
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 9,000
Al 21,000
402 RI2EX=20| A 60,000 60,000 0
= 30,000
< 9,000
Al 21,000
02 QI EAIL EZ (01T S) 60,000 60,000 0
OA=sAE X 30,000,000 *2J4 2 60,000
= 30,000
< 9,000
Al 21,000
sE8E 22N [AsAAT ] (XHA) 20,000 0 20,000
401 AIEHI L 2] 20,000 0 20,000
01 A& HI 19,784 0 19,784
OFsUAY HE+= & 20,000,000 *98.92% 19,784
03 AIE 2 THHI 216 0 216
OA=sAT HE= S 20,000,000& = 1.08% 216
SN SERIANA(EX) 60,000 60,000 0
= 30,000
< 6,000
Al 24,000
307 glz2tol & 60,000 60,000 0
= 30,000
< 6,000
Al 24,000
02 LB AANGFEX 60,000 60,000 0
OZANY SERXXNEA 60,000
= 30,000
< 6,000
Al 24,000
CAQ sERIX S (XHH) 14,200 14,200 0
201 Let24d] 10,000 10,000 0
01 At 22/l 10,000 10,000 0
OHsHE B 10,000
202 O4dl 4,200 4,200 0
01 = LH 4 bl 4,200 4,200 0
SANSSXXE o4l 4,200
sSENE SN NI (AsHE 24838 (BX) 151,000 148,275 2,725
ras 75,500
Al 75,500
307 glz2+ol & 151,000 148,275 2,725
as 75,500
Al 75,500
02 YAFLAANGFEE 151,000 148,275 2,725
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HE: s 5& ZH L
ol AsTE N CER-ED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OH=sHE E43XNE 151,000
Fag 75,500
Al 75,500
HsHE LK (XA) 95,000 60,000 35,000
307 212t01 & 95,000 60,000 35,000
02 Q2B AMAIE E =X 95,000 60,000 35,000
O&EIIF &9l 95,000
N2 MaStAANSHA (DH dhsS /st sIH 170,000 250,000 A 80,000
= oleh)
Fag 136,000
& 10,200
Al 23,800
308 XHXIGH SO0l & 120,000 120,000 0
Fag 96,000
& 7,200
Al 16,800
07 AXSHHZ2HESSZS 120,000 120,000 0
OlNdHN=2 98 sIHAHHEHZA 120,000
g 96,000
o 7,200
Al 16,800
402 SI2FXHE0| ™ 50,000 130,000 A 80,000
g 40,000
= 3,000
Al 7,000
02 QIZtXIE A E X (0| XM THH) 50,000 130,000 A 80,000
ONEAN=ssS 98 &Y sIH 7 50,000
Fag 40,000
& 3,000
Al 7,000
HMMSIII=ESASSHIAAS (XA 50,000 0 50,000
401 AlEHI 2L 2 0HY| 50,000 0 50,000
01 Al&H| 50,000 0 50,000
OMME JIZSASsE LAY EX0LYI 50,000
Ay sHOIATJAHMEH2E (HAH) 250,000 100,000 150,000
308 XAXIGH SO0l & 250,000 100,000 150,000
07 AXSHHZ2ES S 250,000 100,000 150,000
OU=y SHOHAXJAANE 29H| 250,000
AASPHEHZIAH[XACIS (XA 500,000 350,000 150,000
401 Al HI L 2 0HHI 500,000 350,000 150,000
01 Al & H| 496,400 347,480 148,920
OLFARHE =4 AFE  500,000,000& x99.28% 496,400
03 AlE 201 Y| 3,600 2,520 1,080
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B s =& AW U3
el AYNSMARS (el @2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
| Jl 12,580
MASEHMMNEINE2(Z2H)(EX) 11,647,640 11,521,460 126, 180
= 11,647,640
301 Bt A= 11,647,640 11,521,460 126, 180
= 11,647,640
12 JIEtE2 &= 11,647,640 11,521,460 126, 180
O/MASEHHAMNEIES 11,647,640
= 11,647,640
MASEEINEINES(TH)(EX) 1,110,100 1,200,000 A 89,900
& 1,110,100
301 et A= 1,110,100 1,200,000 A 89,900
== 1,110,100
12 JIEtE &2 1,110,100 1,200,000 A 89,900
OMASBEINEXNZ2 1,110,100
< 1,110,100
MASBEHIUFHXES(AlH]) 5,000,000 5,000,000 0
301 dEtE A= 5,000,000 5,000,000 0]
12 JIEtE &2 5,000,000 5,000,000 0
(OF = PSESESON == 5,000,000
g=se MEM(EX) 2,041,663 118,000 1,923,663
= 1,889,810
J| 22,833
= 64,510
Al 64,510
101 121 4] 22,833 0 22,833
J| 22,833
04 JIZtHI2E2 NS E 22,833 0 22,833
OsSHZIEN AdL=X(IN2) 22,833
Dl 22,833
301 et A= 2,018,830 118,000 1,900,830
= 1,889,810
& 64,510
Al 64,510
12 JIEtE &2 2,018,830 118,000 1,900,830
OsANEH (2H) 1,889,810
= 1,889,810
OgtsHA =S (Xl 8HHl) 129,020
& 64,510
Al 64,510
SEAXNER HIAY[SE] 10,830 8,674 2,156
== 3,249
Al 7,581
201 YEr2 | 10,830 8,674 2,156
= 3,249
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Al 7,581
01 AP 22| d| 10,830 8,674 2,156
OgsdA=zN gRF& 10,830
& 3,249
Al 7,581
M MANH] 22 sOIH P X 1,000,000 1,000,000 0
402 12t X0l & 1,000,000 1,000,000 0
01 QI E AN EX (M) 1,000,000 1,000,000 0
OB B2 51 PYXN
2,000,000,000& *x50% 1,000,000
MAMATY DAL (EX) 861,714 704,932 156,782
= 430,857
Al 430,857
301 et A= 303,714 374,932 NT1,218
& 151,857
Al 151,857
12 JIEtE A= 303,714 374,932 NT1,218
OXNESsS& HAHESRAAIS  200,000& *1,518.57h 303,714
= 151,857
Al 151,857
307 212t0| & 30,000 30,000 0
o 15,000
Al 15,000
02 DI AAIE E X 30,000 30,000 0
ORSEX HSEXJALY 2,000,000< *15ha 30,000
&< 15,000
Al 15,000
402 IV X201 & 528,000 300,000 228,000
= 264,000
Al 264,000
02 BIZtXIEANYE X (0IETHH) 528,000 300,000 228,000
OAASERE XA
10,000, 000& *x27 = *60% 162,000
= 81,000
Al 81,000
O=2sdXI| NIAFY  15,000,000& *30CH *60% 270,000
== 135,000
Al 135,000
ORQEI X HAAS 160,000,000 *1CH *60% 96,000
& 48,000
Al 48,000
HEAd222|(BX) 5,217 4,982 235
= 5,217
202 04| 5,217 4,982 235
= 5,217
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OFLY= g2z 5,217
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sHIH SSEX BRAY(EX) 40,000 40,000 0
= 16,000
< 7,200
Al 16,800
402 RIZ2HXt20l ™ 40,000 40,000 0
= 16,000
< 7,200
Al 16,800
02 22t X2 AL E = (01X THE) 40,000 40,000 0
OsJIH ¢NSSEIXNA 40,000
= 16,000
< 7,200
Al 16,800
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2X)
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O0=SEXM2E AE HE=
420,000,000 *65% 273,000
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Al 63,000
Ol=Sexel® AMd sthet(EX) 140,000 540,000 A 400,000
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402 2I2H X201 M 140,000 540,000 A 400,000
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02 It EAIL EZ (01X THS) 140,000 540,000 A400,000
ONE2Y RSEHXNA 140,000
= 140,000
sSE8 ZFIH s4 160,000 160,000 0
307 21201 A 160,000 160,000 0
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OFd SE3gM sSdAd
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HEQBL4EIZLXA 1,450,000 1,450,000 0
402 2I2H X201 M 1,450,000 1,450,000 0
01 It 2 A B (REMTH ) 1,450,000 1,450,000 0
OHSERE 45 LN 1,450,000
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